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GROUP—A / wl9—A
BOTANY / Sfgnfaw

Direction : Answer the following questions
by selecting the correct option.
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Which of the following experiments
proves that CO, is essential for
photosynthesis?

(A) Moll’s half-leaf experiment

(B) Bell-jar experiment

(C) Thistle funnel experiment

(D) Both (B) and (C)

Which one of the following is the

terminal electron acceptor in
terminal respiration?

(A) Molecular CO,
(B) Molecular O,
(C) Molecular Hy

(D) NADPH +H"

Movement of water through
intercellular spaces and walls of the
cells, is called

(A) symplastic movement
(B) tonoplastic movement
(C) apoplastic movement

(D) None of the above

In higher plants, the force
responsible for upward conduction
of water against gravity comes from

(A) transpiration
(B) photosynthesis
(C) translocation

(D) respiration
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Kranz anatomy is found in the
leaves of

(A) Cj3 plants

(B) C4 plants

(C) CAM plants

(D) Both (A) and (B)

When pea seeds and wheat seeds

are put in water, which of the two
will imbibe more water?

(A) Pea seeds
(B) Wheat seeds

(C) Both will imbibe equal amount
of water

(D) Pea seeds imbibe water only at
alkaline pH
Cell organelles associated with

photorespiration are

(A) chloroplast, mitochondria and
lysosome

(B) mitochondria, peroxisome and
centrosome

(C) nucleus, centrosome and

peroxisome

(D) chloroplast, peroxisome and
mitochondria

When the conditions are dry, a grass
leaf curls inward to minimize water
loss due to presence of

(A) thick cuticle
(B) large xylem cavities
(C) parallel venation

(D) bulliform cells

TRl Kranz anatomy (74 TR
(A) C5 Sfewm

(B) C, Tfewm

(C) CAM Tfew

(D) (A) @3 (B) T=g

Y 69 e 8 o I T A T O
g g T @FG @ S imbibe
FAE?

(A) o1 T
(B) oI e
(C) T3 AR @@l imbibe FCA

(D) o5 & WY@ AR pH-9 &
imbibe FI

ST % RS (IR
el fel 2e

(A) @A,
SRS

(B) SIZCOIRFISA,
CICHICE

(©) TIefFm, ereges™ @3 “I=RHee™
(D) @ICAIAB, RS €3 TBCHRPISAT

ORI GEK

ARBICEIN OEH

T4 AR WF AT, e A ZIOT
F1cel TP Te Sferma el I TeifEfed
o (Sedd S ([0 AW GG =@

(&) 7 e

(B) IR WRCTIIRA
(C) T MR
(D) ferel v

[ PTO



10.

11.

12.

/114

Hydroponics is the growth of plants
in

(A) pure water
(B) air

(C) water-containing essential

nutrients

(D) soil

Abscisic acid is
synthesized in

primarily

(A) lysosome
(B) chloroplast
(C) Golgi body

(D) ribosome

The function of leghaemoglobin
during biological nitrogen fixation in
root nodules of legumes is to

(A) convert atmospheric nitrogen to
ammonia

(B) convert ammonia to nitrite

(C) transport oxygen for activity of
nitrogenase

(D) protect nitrogenase from oxygen

Which one of the following is the
non-nitrogenous excretory product
in plants?

(A) Morphine
(B) Tannin
(C) Reserpine

(D) Daturine
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Pits found in cell wall are due to lack
of

(A) middle lamella
(B) cell plate
(C) primary wall material

(D) secondary wall material

Which of the following elements are
essential for the photolysis of water?

(A) Ca and CI
(B) Mn and Cl
(C) Zn and Mn

(D) Cu and Fe

a-ketoglutaric acid, an intermediate
compound of Krebs’ cycle, is a

(A) 5-carbon compound
(B) 6-carbon compound
(C) 4-carbon compound

(D) 3-carbon compound

Guttation is mainly due to
(A) osmosis

(B) transpiration

(C) root presure

(D) imbibition
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Mobilization of stored food in
germinating seed is triggered by

(A) ABA
(B) gibberellin
(C) cytokinin

(D) ethylene

Movement of cytoplasm around the
single central vacuole in a particular
direction in a plant cell is called
(A) circulation

(B) rotation

(C) somersault

(D) regulation

Red colour of tomato is due to
(A) p-carotene

(B) anthocyanin

(C) lycopene

(D) erythrocyanin

Periderm includes

(A) phellem, phelloderm and
plerome

(B) phellem, phellogen and
dermatogen

(C) phellem, phellogen and cortex

(D) phellem,
phelloderm

phellogen and
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Cell organelle having a cartwheel
constitution is

(A) microfilament
(B) centriole
(C) microtubule

(D) basal plate

In dicotyledonous roots, initiation of
lateral roots takes place in

(A) endodermal cells
(B) cortical cells
(C) epidermal cells

(D) pericycle cells

The maximum amount of calcium
pectate is present in

(A) primary cell wall
(B) secondary cell wall
(C) middle lamella

(D) cell membrane

A Dbicollateral vascular bundle has
the following arrangement of tissues

(A) Outer phloem — outer xylem
— outer cambium — inner
xylem — inner phloem

(B) Outer cambium — outer
phloem — xylem— inner phloem
— inner cambium

(C) Outer phloem — outer cambium

— xylem — inner cambium
— inner phloem
(D) Outer xylem — outer cambium

— phloem — inner
cambium — inner xylem
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Exine of pollen grain is made up of
(A) pectocellulose

(B) lignocellulose

(C) pollen kit

(D) sporopollenin

Pith, the central part of ground
tissue, is generally made up of

(A) parenchyma
(B) collenchyma
(C) chlorenchyma

(D) sclerenchyma

An angiospermic leaf carries 16
chromosomes. The number of
chromosomes in its endosperm will
be

(A) 16
(B) 24
(©) 12
D) 8

Grafting is successful in
dicotyledonous plants but not in
monocotyledonous plants because
dicotyledonous plants have

(A) vascular bundles arranged in a
ring

(B) cambium for secondary growth

(C) vesels with element arranged
end to end

(D) None of the above
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A heterozygous tall (Tt) pea plant is
crossed with a homozygous dwarf
(tt) pea plant. What will be the
percentage of dwarf plants in the
next generation?

(A) 0%

(B) 50%

(C) 25%

(D) 100%

The statement—contagium vivum

fluidum (infectious living fluid) was
given by

(A) Ivanowsky
(B) Stanley
(C) Pasteur

(D) Beijerinck

The ‘eyes’ of potato tuber are
(A) flower buds

(B) shoot buds

(C) axillary buds

(D) root buds

Loose smut of wheat is caused by
(A) Phytophthora infestans

(B) Cercospora personata

(C) Ustilago tritici

(D) Alternaria solani
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(A) 0%

(B) 50%

(C) 25%

(D) 100%

Contagium vivum fluidum
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Double-stranded RNA is found in
(A) reovirus

(B) TMV

(C) 0 X174 (phiX174)

(D) coliphage

How many different types of gametes
can be formed by F; progeny
resulting from the cross AABBCC x
aabbcc?

(A) 3

(B) 8

(C) 27

(D) 64

Ovule is attached to placenta of
ovary wall by

(A) funiculus
(B) hilum
(C) raphe

(D) chalaza

Nitrates are converted into nitrogen
by

(A) nitrogen-fixing bacteria
(B) ammonifying bacteria
(C) denitrifying bacteria

(D) nitrifying bacteria
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38.

39.

40.
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Interfascicular cambium is a
(A) primary meristematic tissue
(B) primordial meristem

(C) type of protoderm

(D) secondary meristematic tissue

The chromosomal theory of
inheritance was put foroward by

(A) Bateson and Punnett
(B) Sutton and Boveri
(C) Morgan

(D) de Vries

What is the probability of occurance
of homozygous individuals for both
characters in F, generation of a
typical dihybrid cross?

)
B) o
©
o) 2
Ribosomes are attached to

endoplasmic reticulum through
(A) magnesium

(B) peptidyl transferase

(C) ribophorins

(D) +RNA
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Which one is not the part of
endomembrane system?

(A) Golgi body
(B) Vacuole
(C) Endoplasmic reticulum

(D) Ribosome

Which one is
weedicide?

widely used as

(A) 2, 4-D
(B) IBA
(C) IAA

(D) ABA

Racker’s particles occur in
(A) chromosomes

(B) mitochondria

(C) nucleus

(D) Golgi apparatus

Idioblasts are
(A) collenchymatous cells

(B) crystals of calcium carbonate
and calcium oxalate

(C) special types of sclereids

(D) special parenchymatous cells
having ergastic substances

12
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45. What is the possible blood group in

46.

47.
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children from the parents with B
and O blood groups?

(A) All children with O blood group

(B) The children are with both B

and O blood group

All children are with B blood
group

(C)

(D) The children are with both A

and B blood groups

Galic acid used in making ink is
obtained with the help of

(A) Aspergillus niger

(B) Agaricus campestris

(C) Streptococcus lactis

(D) Lactobacillus bulgaricus

Viral infection is usually absent in

(A) phloem cells

(B) xylem cells

(C) pith cells

(D) apical meristem
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(B) Agaricus campestris
(C) Streptococcus lactis
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Chemically gums (excretory product
of plants) are

(A) lipoproteins

(B) complex carbohydrates

(C) steroids

(D) triglycerides

As compared to Cj3 plants, how
many additional ATP molecules are
needed for net production of one
molecule of hexose sugar by Cy4
plants?

(A) 1

(B) 2

(C) 0

(D) 12

What will be the effect of

accumulation of K¥in guard cells?

(A) Water potential increases

(B) Water potential decreases

(C) There is a loss of turgidity

(D) Exosmosis occurs

14
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GROUP—B / ©I5—B
ZOOLOGY / 2if<wil

Direction : Answer the following questions
by selecting the correct option.

51.

52.

53.

/114

The number of gills present in

Osteichthyes (bony fishes) is

(A) 2 pairs

(B) 4 pairs

(C) S pairs

(D) 6 pairs

Setae are found in all body segments
of earthworm, except

(A) last segment

(B) first segment

(C) clitellar segment

(D) first, last and clitellar segments

In cockroach, the haemocytes

(A) transfer the digested food to the

various parts of the body

(B) act as phagocytes

(C) lack haemoglobin

(D) Both (B) and (C)

15

facife : A0S Teg v F@ Mevd ANefid
Teg ms |

51.

52.

53.

SEe e T (gill) 7Y 2
(A) 2 el
(B) 4 (&l
(C) 5 (=Tl

(D) 6 (&T@l

@OR M @FW 24% Jros 5
orzdacs PIoT T TR 2

(A) T (YU
(B) 229 (T2UYTS
(C) HECHR (RIBTT

(D) 212, R 3R FIRCHAR (TS

S <
NIETIS [RENPIRD

A) oezm Rfew e nfoe  «iows
ERICERIEI6

(B) TFCAPIRE 2371Ca & ¢
(©) fermanfefEs =

(D) (B) @3k (C) T2

[ PTO



54. In which phase proteins for spindle | 54. @ ™R @N0R P71 (2D IACHT

fibre formation are synthesized? 00 2

(A) Gi-phase (A) G-
(B) Go-phase (B) Go-wIRI
(C) S—phase (C) S-T
(D) Anaphase (D) SIS

55. Darwin’s finches are a good example 55. THTIGW M (Darwin’s finches)
of e (mfba e Trmeae 2

A) industrial melanism
(A) (A) ORI G

(B) connecting link

(B) FICIrivR form

(C) adaptive radiation

(C) wree @fReEm

(D) convergent evolution

(D) FITSRCED BCIETCH

56. Thorns of Bougainvillea and tendrils

of Cucurbita are examples of 56. (JICIAISTRIT FO] 43R FACUR ST 2o
(A) analogous organs (A) TSR wCwE T

(B) homologous organs (B) RPIKE Coe TnRdel

(C) vestigial organs (C) sar =exd gl

(D) retrogressive evolution (D) @grahre Radem Trrze
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57. Which one of the following was not 57. fTalkilie @M TReEfey AL FACO

explained by the Darwinism? Al 2
(A) Natural Selection (A) AFRe F=H
(B) Struggle for Existence (B) S%ced &0 AW

(C) Arrival of the Fittest (C) TerE TIREE

(D) Formation of new Species (D) e o[efeg v;ﬂ%

58. The skin of shark is covered with
58. IHET T WO AT

(A) cycloid scale .
(A) STIZHEC o [l

(B) placoid scale .
(B) 20TRC® X @It
(C) ctenoid scale 3
(C) ToIe = ==l
(D) ganoid scale .
(D) HICTC =™ =1

59. The number of remiges in each wing

of pigeon is 59. AR 2Afh THR @RCSER R4 29
(A) 23 A) 231
(B) 24 B) 24 %
(C) 12 c) 121
(D) 18 D) 18 5

60. In parasitic food chain, the pyramid
of number is

60. [F&A MR, TRAE PRI 27

(A) upright (A) T
(B) inverted (B) &7DICeTl
(C) linear (C) w@R=
(D) Both (A) and (B) (D) (A) @k (B) T=%2
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62.

63.

64.
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Contour farming is
employed in

usually

(A) hilly areas
(B) sandy areas
(C) sea beaches

(D) All of the above

In earthworm, self-fertilization

cannot occur due to
(A) protogyny

(B) epigyne

(C) protandry

(D) hypogyny

The position of heart in cockroach is

(A) lateral
(B) dorsal
(C) ventral

(D) central

In Echinodermata, water vascular
system is related with

(A) locomotion
(B) capture and transport of food
(C) respiration

(D) All of the above
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64.

B TR AR 2ACHo 41 =
(A) =T ST
(B) QTR T3

(C) e
(D) TCad SR

(OIS FEE 4 AR A, FEA GCS
[AEIRIK]

(A) cacEEEF
(B) «frizf
(C) camig
(D) 2R

SRCAETR ARG SR T
(A) “Irsfree

(B) “me

(C) SIHEwe

(D) IR

GFIBCATTRAD] *RES 2AACS & HeqeTog
R M T~ 2

(A) AN
(B) 2Marze € Aqfaaae
(C)

(D) TR AR



65.

66.

67.

68.
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Ootheca in cockroach is produced
by the secretion of

(A) collateral gland
(B) conglobate gland
(C) gonapophyses

(D) All of the above

During gamete formation, the
enzyme recombinase participates
during

(A) metaphase-I
(B) anaphase-II
(C) prophase-I

(D) prophase-II

Transverse binary fission occurs in
(A) Euglena

(B) Amoeba

(C) Hydra

(D) Paramecium

Which of the following are viviparous
animals?

(A) Lizard and turtle
(B) Cow and crocodile
(C) Whale and mouse

(D) Platypus and crocodile

10

65.

66.

67.

68.

SCNETR SR (I 0 COfe 27 2
(A) CPETBICE 22

(B) FCACID 2Af

(C) (CSTTICAIFIRE™

(D) e SR

DD E BT E<cs M e S B T e IR s
S| 229 B

(A) CTOCFS-1-97 7T
(B) SUMICEFS-I1-97 3T
(C) (ATFG-I-97 3T

(D) (ACFE—11-99 S

GreTent faferem @4 Im
(A) 3efamIce

(B) @RI

(C) Z2TI®

(D) “RICIPRIN-€

s (el wage iiom Fom w2
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(B) 9RF €3 FAIF
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(D) MG @R I

[ PTO



69.

70.

71.

72.

/114

Single-step large mutation leading to
speciation is also called

(A) founder effect
(B) saltation
(C) branching descent

(D) natural selection

In a National Park, protection is
provided to

(A) flora and fauna
(B) entire ecosystem
(C) fauna only

(D) flora only

Which one of the following areas in
India is a hot spot of biodiversity?

(A) Eastern Ghats
(B) Gangetic Plain
(C) Sunderbans

(D) Western Ghats

Which one is not a vestigial organ?
(A) Wings of kiwi

(B) Coccyx of human

(C) Flipper of seal

(D) Splint bone of horse

20

69.

70.

71.

72.

@Fe-q7RFE el NSO e
Aifed Teolfe Toce OIeF e

(A) TFOR 3T
(B) STEICHHI

(C) IR T
(D) 2rgfes fma

(b G Twilea A T (ST =
O 27

(A) GFIET @R Tl
(B) W2 qrEoF
(C) YA TR

(D) ST GFRICE

TRce  fEEReetr W @
GRED@E 2B % el e F4
AR 7

(C) T
(D) TG

(I AT =% 773 2

(A) Kiwi “3F Tel

(B) WA Ff3P1

(C) Sice fFena

(D) CAreR 9e% W% (splint bone)
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74.

75.

76.
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The main excretory product of Rohu
fish is

(A) ammonia
(B) urea
(C) wuric acid

(D) trimethylamine oxide

Testes in frogs are

(A) attached to the lower part of
kidney by mesorchium

(B) triangular in shape

(C) attached to the uppear part of
kidney by mesorchium

(D) None of the above

In male cockroaches, sperms are
stored in which part of reproductive
system?

(A) Seminal vesicles

(B) Mushroom glands

(C) Testes

(D) Vas deferens

Mesozoic Era is called as golden
period of

(A) fishes
(B) reptiles
(C) birds

(D) mammals
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73.

74.

75.

76.

F2 ICRS 21T (o1 “mief 2a
(A) STICIITeRT

(B) 2Tfsa

(C) 3T wiPre

(D) GRREREerNR wHRe

ICET P

(A) I@ FEIRCR M OTRIRAICR
AR TS AT

(B) QI =1

(C) 3@ THRCE M TR
AR TS AP

(D) TR (bR

T RN GTOCE (e OIKe
YT Sfel T ACF ?

(A) GRS
(B) M= 2fece
(C) WFMCE

(D) =M TSIz

TSRS 9P bR Ferol TCeT 2
(A) T

(B) &mp7l

(C) =%

(D) B
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The term ‘ecosystem’ was coined by
(A) Odum

(B) Ernst Haeckel

(C) Tansley

(D) Reiter

Which animal is the symbol of World
Widlife Fund?

(A) Tiger
(B) Giant panda
(C) Hornbill

(D) White bear

In amphibians, alimentary canal,
urinary and reproductive tracts
open into a common chamber are
called

(A) anus

(B) cloaca

(C) rectum

(D) urethra

Bitting and chewing apparatus with
teeth called Aristotle’s Lantern is
found in

(A) starfish

(B) sea cucumber

(C) sea urchin

(D) All of the above
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80.

(A) ST
(B) (3 C2Ce
(C) TrTca
(D) =B
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Both intracellular and extracellular
diagestions occur in

(A) Amoeba
(B) Paramecium
(C) Euspongia

(D) Hydra

Animals feeding on blood are called
(A) necrophilous animals

(B) insectivorous animals

(C) sanguinivorous animals

(D) frugivorous animals

Complete diagestive tract is found in
(A) tapeworm

(B) roundworm

(C) liver fluke

(D) Hydra

In cud-chewing animals, in which
chamber of stomach gastric juice is
secreted?

(A) Rumen
(B) Reticulum
(C) Obomasum

(D) Omasum
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(A) SRRTCS
(B) WI=ICPRICT
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(B) BCISCS@PT it
(C) TweBwCSEPT 2

(D) ZFficemPT 2@

sl (MBI (7l AR
(A) frerphice

@ S 2N SR FICo O AFEAR
(T 2T PGS T HE© 27 2

(A) T
(B) cAfbFeT
(C) ecarPIH
(D) SN

[ PTO



85.

86.

87.

88.
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Montreal Protocol aims at

(A) reduction of
substances

ozone-depleting

(B) biodiversity conservation
(C) control of water pollution

(D) control of CO, emission

Which
parasite?

one is a monogenetic

(A) Tapeworm
(B) Trypanosoma
(C) Ascaris

(D) Leishmania

During which phases of cell cycle,
amount of DNA in a cell remains at
4C level if the initial amount is
denoted as 2C?

(A) Gy and Gj
(B) GO and Gl
(C) Gy and S

(D) Only Go

If 20J of energy is trapped at
producer level, then how much
energy will be available to peacock
as food in the following food chain?

Plant — Mice — Snake — Peacock
(A) 02J

(B) 0-0002J

(C) 0-:02J

(D) 0-002 J
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85.

86.

87.

88.

Montreal Protocol-9d 7% 2]

(A) STarEE /ORI TR AREE
<41

(B) &RCafb@r Aeael
(C) erorgEel ferael

(D) CO,-97 fgame fermgel

I FCACEATS ARG 2

(A) ol

(B) Brz=mieaicomsi

(C) SPTIfAT

(D) ferrmfe

(FRGCEFE (P ™R G0 (P DNA-GF

AR 4C =7 I DNA-GF AARNF “ifqe
= 2C 2

(A) Gy €’ Gy

(B) Gg €k Gy

(C) G @RS

(D) IeTHIE Go

I TeMF &I 20 J *Ife T_F 2 O

feferire qmpece W Febl WM 4w
&M e A 2

Sien — 2@ — A% — T/
(A) 02J

(B) 0-0002 J

(C) 0:02J

(D) 0-002J
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Which one of the following animals
has not two circulatory pathways?

(A) Lizard
(B) Whale
(C) Shark

(D) Frog

‘Biodiversity Act of India’ was passed
by the Parliament in the year

(A) 2002
(B) 1992
(C) 1996

(D) 2000

Radula helps in
(A) respiration
(B) circulation
(C) reproduction

(D) feeding

Darlington’s bouquet stage is found
in

(A) leptotene stage
(B) zygotene stage
(C) pachytene stage

(D) diplotene stage
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The role of an organism in ecological
system is known as

(A) habitat
(B) niche
(C) interaction

(D) None of the above

A species facing extremely high risk
of extinction in the immediate future
is called

(A) critically endangered species
(B) endemic species
(C) wvulnerable species

(D) endangered species

Geographic and reproductive
isolations are closely associated with

(A) extinction
(B) speciation
(C) succession

(D) competition

The endometrium is the lining of
(A) urinary bladder

(B) uterus

(C) oviduct

(D) ovary

Genotypic and phenotypic ratios in

monohybrid cross remain same in
case of

(A) pseudoallelic genes
(B) sex-linked genes
(C) incomplete dominance

(D) Both (B) and (C)
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Reptilian feature of Archaeopteryx is
(A) V-shaped furcula

(B) beak

(C) abdominal ribs

(D) feathers

Which one of the following is an
example of pleiotropy?

(A) Haemophilia
(B) Thalassemia
(C) Sickle-cell anaemia

(D) Colourblindness

Lampbrush chromosomes are seen
in

(A) interphase stage
(B) zygotene stage
(C) diplotene stage

(D) metaphase stage
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98. HPSICHRCIT AIPR CAMET 26

(A) V-Sghen FRRBCa

99, fflResfem W @@= fshim

[CGESR

INRERIRIER

(B) 2IEAICATRR

(C) PrFe1-coet smiferfs

(D) 3efrel

100. ST (FICACEN RerFe 27
(A) ToRCES ™
(B) wizcalie v

(C) TTeanfoe v

(D) CIBICEFS PR
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GROUP—C / w9—C
PHYSIOLOGY / *Na=f<w

Direction : Answer the following questions | fqzafie : s Teg Tva T3 Tova 2xeslem

by selecting the correct option. Teq wie |
101. Auerbach’s plexus is found in 101. Auerbach’s plexus IS IR
(A) gastrointestinal tract (A) STCRIZACHAE GICE
(B) liver (B) IFC®
(C) kidney (C) 3=
(D) heart (D) =efiee
o iﬁgggritontﬁneg:causaere theyC aliler: 102. mﬂﬁ%ﬂf@? ' . =
present S

(A) CRCOTRICT AA™CT

(A) in front of peritoneum

[N W a

(B) CARCBIFRICTR (ol

(B) behind the peritoneum

o

(C) cAfcHifaIC qieo

(C) below the peritoneum

(D) above the peritoneum (D) CoIRCBIPRICTR TPl

103. Which one has the thickest wall? 103. (B 2B e 27

(A) Right auricle (A) T et
(B) Right ventricle (B) T felera
(C) Left auricle (C) 3N =fer™w
(D) Left ventricle (D) I foler

/114 78



104. Contraction of external intercostal

105.

106.

/114

muscles causes

volume of
the

(A) increase in the
thoracic  chamber in
anteroposterior axis

volume of
the

(B) increase in the
thoracic chamber in
dorsoventral axis

volume of
the

(C) decrease in the
thoracic chamber in
anteroposterior axis

volume of
the

(D) decrease in the
thoracic chamber in
dorsoventral axis

The part of Fallopian tube closest to
ovary is

(A) isthmus

(B) infundibulum

(C) cervix

(D) ampulla

In Parkinson’s disease, there is
degeneration of a neurotransmitter
named

(A) acetylcholine

(B) adrenaline

(C) noradrenaline

(D) dopamine
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< g A

(C) TFINZET TS TL-7PBW o
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(A) 22T
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108.

109.

110.
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Renin is secreted from
(A) podocytes

(B) juxtaglomerular cells
(C) stomach

(D) small intestine

Which one helps in fibrinolysis?
(A) Thrombin

(B) Plasmin

(C) Thromboplastin

(D) Fibrin

Hiccups can be best described as
(A) forceful sudden expiration
(B) jerky incomplete inspiration

(C) vibration of the soft palate
during breathing

(D) sign of indigestion

Kidney stones are produced due to
deposition of uric acid and

(A) silicates
(B) calcium carbonate
(C) calcium oxalate

(D) calcium chloride
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(A) CAICTPIEG (AT
(B) GIRPBICACHEER (PR (AP
(C) TFZA! (AP

(D) Fuig (0

I FIRECTTRPICT 2=y e 2
(A) 2fFw

(B) &=
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(D) I
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112.

113.

114.
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Broca’s motor speech area is located
in

(A) frontal lobe
(B) temporal lobe
(C) medulla oblongata

(D) diencephalon

If the hypophyseal stalk is damaged,
which of the following hormones will
not be released?

(A) Somatotropin

(B) Oxytocin

(C) Prolactin

(D) ACTH

Hysterectomy is the

removal of

surgical

(A) prostate gland
(B) vas deferens
(C) mammary gland

(D) uterus

Which part of sperm provides energy
for its movement?

(A) Tail
(B) Middle piece
(C) Head

(D) Acrosome
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(A) T 4GS
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(C) EEATC
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116.

117.

118.
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Loffer’s syndrome is associated with
(A) taeniasis

(B) filariasis

(C) ascariasis

(D) malaria

CDRI stands for
(A) Central Drug Research Institute

(B) Calcutta
Institute

Drug Research

(C) Central Dairy Research Institute

(D) Colonial Research

Institute

Dairy

At menopause, there is a rise in
urinary secretion of

(A) FSH
(B) STH
(C) LH

(D) MSH

Scrotum communicates with

abdominal cavity through
(A) urethra

(B) inguinal canal

(C) vas deferens

(D) epididymis
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A) Tofmbte

(B) wFcetmi>m
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119.

120.

121.

122.
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from
mainly

Vasopressin released
neurohypophysis is
responsible for

(A) facultative reabsorption of water
through Henle’s loop

(B) obligatory reabsorption of water
through Bowman’s capsule

(C) facultative reabsorption of water
through distal convoluted
tubule

(D) obligatory reabsorption of water
through proximal convoluted
tubule

The alveoli of lungs are lined by
(A) squamous epithelium

(B) cuboidal epithelium

(C) columner epithelium

(D) ciliated epithelium

The immunoglobulin abundant in
colostrum is

(A) 1,G
(B) 1M
(C) LA

(D) I,D

Heart murmur indicates a disorder
in

(A) bundle of His
(B) heart valve
(C) sinoatrial node

(D) atrioventricular node
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123. Chylomicrons are produced in 123. SEENRG (o =7

(A) stomach (A) “TEEICS
(B) duodenum (B) Tostwaiw
(C) lumen of small intestine (C) FUiCcE 13
(D) intestinal cells (D) =NfEs (1T

124. Hassall’s corpuscles are found in 124. O ol (Hassall’s corpuscles)

2T IR
(A) pituitary gland (A) PiEEbR afre
(B) thymus gland (B) &M afers
(C) thyroid gland (C) AR afce
(D) parathyroid gland (D) “FRIEEES 2fere

125. End-bulb of Krause acts as

~

125. FCCEd 28 "FifS 2o

(A) pressure receptor

(A) DI7ERS
(B) pain receptor (B) @wela=R
(C) cold thermoreceptor (C) Jre W i Ae764
(D) warm thermoreceptor (D) o= W qifHE76e
126. Paralysis of jaw muscles is due to | 126. (SRR *IFF SPTel 7 FFO] I
loss of function of &9 Fe 2 (I 29
(A) trigeminal nerve (A) GiEcemeE FR]
(B) oculomotor nerve (B) Wﬁiﬂﬁ?{’ﬁl{[
(C) facial nerve (C) cFPRIE FRY
(D) None of the above (D) Tocad @Fe T
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127.

128.

129.

130.
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Injury to adrenal cortex is not likely
to affect the secretion of

(A) cortisol
(B) aldosterone
(C) adrenaline

(D) cortisone

Seminal plasma in human males is
rich in

(A) fructose and calcium
(B) glucose and calcium
(C) DNA and testosterone

(D) ribose and potassium

Gambusia fish is introduced into
pond to check vector-borne disease
such as

(A) malaria

(B) dengue

(C) chikungunya

(D) All of the above

Which extraembryonic membrane in
human prevents desiccation of the
embryo inside the uterus?

(A) Chorion

(B) Allantois

(C) Yolk sac

(D) Amnion
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131.

132.

133.

134.
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Cells of Deiters occur in
(A) retina

(B) organ of Corti

(C) utriculus

(D) sebaceous glands

In which of the following regions of
nephron does maximum
reabsorption of useful substances
take place?

(A) Henle’s loop

(B) Proximal convoluted tubule

(C) Distal convoluted tubule

(D) Glomerulus

The most active phagocytic white
blood cells are

(A) eosinophils and lymphocytes
(B) neutrophils and eosinophils
(C) neutrophils and monocytes

(D) lymphocytes and macrophages

Crypts of Lieberkuhn secrete
(A) succus entericus

(B) ptyalin

(C) enterocrinin

(D) cholecystokinin
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Which one is called birth hormone?
(A) FSH

(B) LH

(C) Oxytocin

(D) Prolactin

Which blood vessel takes blood away
from kidney?

(A) Renal vein
(B) Renal portal vein
(C) Afferent arteriole

(D) Efferent arteriole

Catecholamine is
(A) dopamine
(B) adrenaline
(C) noradrenaline

(D) All of the above

The initiation of cardiac impulse and
correct sequence of its conduction is
represented as

(A) SA node — AV node — Purkinje
fibres — bundle of His

(B) SA node — Purkinje fibres —
AV node — bundle of His

(C) SA node — AV node — bundle of
His — Purkinje fibres

(D) SA node — Purkinje fibres —
bundle of His — AV node
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I A1 2 ¢ 2
(A) FSH

(B) LH

(C) wIfCHIPE

(D) oG
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(B) IS (B PR

(C) STl Topfel

(D) IR Tepeafer

FICOCFITRA 26
(A) TR

(B) mifgeereT
(C) wTaemGfer
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FICTE TIOR8 @R «F A2
AF FAE I AW (@O O 26
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o7 — [2ed R
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(C) SA T — AV @& — 3™
TRYR — GG o7

(D) SA T — [FRFE w8 — f2res
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Serosa is the

(A) innermost layer of wall of
alimentary canal made of a thin
mesothelium

(B) outermost layer of wall of
alimentary canal made of a thin
mesothelium

(C) intestinal gland found in small
intestine

(D) None of the above

Cornea transplantation is successful

as cornea is

(A) easily available

(B) easily preserved

(C) without blood supply

(D) easily stiched

A person likely to develop tetanus is

immunized by administering

(A) dead germs

(B) performed antibodies

(C) wide spectrum antibiotics

(D) weakened germs
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(B) CTEFETE AACHE 2@ ABE A

(C) *Fucy Trifys =ifs afy

(D) TR (FFI2
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(A) TZEETSS
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142. The condition of absence of sperm | 142. @ IR WEFICT SFIY Tﬂi{"@@ A

cells in semen is called W 9
(A) polyspermia (A) =it
B) azoospermia
(B) p (B) Swrer=iifafa
C) aspermia
(€) asp (©) s
(D) oligospermia

(D) fercarr=onf

143. When platelet count in blood is less
than normal count then occurs 143. ¥ A& E[Gl[)ﬁ]oqa]g] AL ek
TR T AT O (T O

(A) thrombocytosis

(A) 2ACTPIRCGIFM
(B) leukopenia

(B) Terecsiceifer
(C) purpura

(C) eI=rea
(D) leukemia

(D) fereefa

144. Mitral valve is located

144. TG 3o S[ZM I

(A) in between right auricle and
right ventricle

(A) TN e @ TR eI FACAeECE

(B) in between left auricle and left
ventricle

(B) N e @ A fe1caq A= ce

(C) in the opening of pulmonary

artery (€) T:TE X Wﬂ@[

(D) in the opening of aorta (D) W=l e
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In a resting nerve fibre

(A) 3 Na* are pumped into the cell
and 2 K*are pumped outwards

(B) 3 Na~ are pumped outwards for
every 2 K" pumped into the cell

(C) 3 Na* are pumped outwards
and 3 K"are pumped into the
cell

(D) There is no Na-K pump

Sphincter of Oddi guards

(A) the opening of hepatopan-
creatic duct into the duodenum

(B) the opening of common bile
duct into the hepatopancreatic
duct

(C) the opening of pancreatic duct
into the hepatopancreatic duct

(D) the opening of cystic duct into

the common bile duct

Ringworm in human being is caused
by

(A) nematodes

(B) viruses
(C) fungi
(D) bacteria
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Blood calcium level is lowered by the
deficiency of

(A) thyroxine

(B) calcitonin

(C) parathormone

(D) both calcitonin and
parathormone
Aggregates of lymphoid tissue

present in the distal part of small
intestine are known as

(A) villi

(B) Peyer’s patches

(C) Rugae

(D) choroid plexus

The amount of oxygen carried by
lgm of haemoglobin is

(A) 13.4 ml

(B) 0.4 ml

(C) 1.34 ml

(D) 20 ml
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149.
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2P 7[R (I 2
(A) A

(B) FIEOICHIfN
(C) ~RNCA

(D) FIETOICHIE € “TRILe Ten

TANBCF I

A) fefer
(B) C*RIPf #[71CHA
(C) = (Rugae)

(D) FICET (2T
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(A) 13.4 ml
(B) 0.4 ml
(C) 1.34 ml

(D) 20 ml
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

feraferiRie et sicet e =g -

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2/l 2ieam Tex f2oiica @ bl f[es oredl Siier ©f (Ae weHig wa TeRt Ao OMR Teaeicg (reql e FICE =D
T AN pefsice] FIceTl e e 0o 209 | @ Ted fbfs w91 207 ¢olest O S AfEe w1 e A

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (FICTIE2 OMR Teae[@fb ©% F9¢3 1 | OMR TS0 (GRS 7151 F161 A T80 (1< A 11 | A1 Sroma
G FR TeecE WS T SN =S Sl (I QAR e = o

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE7[@ 3% 2R7[0a TIRICH AP o] SReTge 0O 2 | (FICT SR (Y09l Ffb € *Mafosre @b 2el) OMR Ted7[@
S 2o 7Cs Crel AT 1l |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

AP SIHCT M-« OF OMR Tea7[(qq 5[ @32 27(Cad 11 fgerelcq force 23 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

TR TG FIE G2 FCHI SHRCTADBIG PTG BT ST (I R N FTR1 FoE, 7071 6 JUASTS M2, (eI, (AR
T (AR B [Toiea i “QFl 2@ /0% 2@ 0o (e 23 1l |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR TS (BN 2R (FCHR T0Cd ~FrHI-1:B I F6 Wi F1 2031 TP R SR TG IS €
FCHI SRCTADD FIE (WS I AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTBR A7MRACHACTD N BASIECEo7-97 RO SRHie =Iol I 7R 203 O P ZF ~A[ada 0o = 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

IR BASTGCAGC (TS ST M- [ FFF FACS 2Cd, LT 7] 20 OIS 220eTd #1493 AR
BB b OMR Twglq & (ReqIq 7N |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SICHCD Mo« (B T Pl 3R FEITS TSS9 o F0 TeR7Iq &l (el Arere (ICal “Rrwi] “Arw 251 ylal Fce
#RCTA =1 | At (I AR SICHre™t Mb-« (277 FEF ] FC 9Cd Fof+l O OMR TS71q S SR ¢ 9197 B G2 9
e IR 2T 41 20 |

Use of any type of calculating device is prohibited.

@ CICA 40T FTFCIBCIR 2 S7jefeqce] foifem |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[P 29/ FCFI 0 A SAHA (@CET 7 6 el SRR bifeTe 203 | 9] 4hes SEhe IR @eE RN ¢ e
el e 2eq |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I BREICSS 2P @R OMR  TERACET (G B (R <1 SISl 1 A =11 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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